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Eq. 2.25:
A= #—:&IAI =_|i
1 + jwiw, Lz
1+( )
So

A, = 80dB, A = 40db @f = 100 kHz

2
20 log [1 +(-f£) - ZOIogllAT?ll = 20logA, — 20logA
b

= 86 —40 = 46 dB
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f, = 501 Hz
f, = Aof, = 1.995 % 10" X 501

86 d
= 9.998 MHz ~ 10 MHz



2.110
we have:

Ao(db) = 20 dB + A(db)
20db = 20 logl0 = A, = 10A

a)Ap = 10X3x10° = 3x10°Hz V/V
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6 % 10° - /%9
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= f, = 60.3 Hz

f, = Apf, = 3%x10°% 603 = 180.9 MHz

b)
A =50x10°X10V/V=A, = 10X 50 X 10°
= 50 % 10° /v
j A 10 Hz
1+ =20 - 10 10Hz _ 55 p - 1 He
‘ fil A fo ’

f, — Aofb = 50 MHz

c)A = 1500 V/IV= A, = 1500 VIV

|+ df 0.1 x 10°
Io fo
£ = 15000 X 10 K = 150 MHz

= 10=

d) Ay = 10X 100 = 1000 V/V

ll L if 0.1 x 10°
Ir P
f, = 1000 X 10 MHz = 10 GHz

= 10=>

e)A = 25V/mV X 10 = 25 x 10° v/v
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b

= Jg_g:f”z

= .89= f, = 10 kHz

10 MHz

=, 1o=>2-5%'1 = /9= f, = 2.51 kHz

f, = Aof, = 25% 10" X 251 X 10° = 627.5 MHz
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LetZ, = R, | SLC andZ, = R,

v, _ _Zy _ Y, _ _ 1/R,
v Z, % 1 .sc
R,
_ _(Ry/R))
1 + sCR,

This function is of a STC, low pass circuit having

a dc gain of —% and 3-dB frequency
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® T TR,

R.= R, = 10kQ

dc gain = 20dB = 10
R,

210 = 2= R, = 10R, = 100 kO
I

(Vo/V) dB
3

- f
100N\ (kHz)

3dB frequency at 10 kHz

I
nw, = 2w X 10X 10} =
w" 1T CR2
C = 1 = 0.5 nF
27 X 10 X 10° X 100 K

Unity gain frequency at 100 kHz




